TOLSEN

ELECTRIC PLANER 900W | 79535

part Description Qty part Description Qty
1 screw ST4.2x14-F n 30 belt 4P)246-1 1
2 brand label 1 31 nut M8 1
3 side cover 1 32 big belt pulley 1
4 screw ST4.2x10 5 33 bearing 6000-2Z 1
5 baffle 1 34 middle cover 1
6 spring @11X@1X3 1 35 cutter body 1
7 brush box 6x9x%20.5 2 36 bearing 607-2Z 1
8 carbon brush 2 37 windshield 1
9 brush box cover 11x9%x2.3 2 38 screw ST4.2X55-F
10 handle upper cover 1 39 stator 1
1 connecting screw rod 1 40 bearing 626-2Z 1
12 handle lower cover 1 41 cable 1
13 steel cover 1 42 cable protector 1
14 steel ball ©2.5 1 43 cable clamp 1
15 spring ©®1.85X00.45%X10 1 44 rotor 1
16 dial 1 45 bearing 608-2Z 1
17 Decorative pieces 1 46 small belt pulley 1
18 spring O11.5x02x5 1 47 Inner hexagon wrench 2.5 1
19 front plate 1 48 Open spanner 8 1
20 nut M6 2 49 Attachment block 1
21 housing 1 50 dust pipe 1
22 screw ST4.2X10-F 1 51 support steel 1
23 dust board 1 52 dust bag 1
24 switch 1 53 locked knob 1
25 capacitance 1 54 fence 1
26 handle cover 1 55 angle bracket 1
27 screw ST4.2x30-F 3 56 screw M6Xx14 1
28 label 1 57 Compression knob 2
29 belt cover 1 58 depth indicator 1




ELECTRIC PLANER 900W | 79535

TOLSEN

ASSEMBLY DIAGRAM




